

## Republic of the Philippines

## Department of Education

REGION XI SCHOOLS DIVISION OF DAVAO DEL NORTE

## INVITATION TO BID FOR THE PROCUREMENT OF SCIENCE AND MATH **EQUIPMENT (SME) PACKAGES FOR JHS AND SHS FOR FY 2022 (RE-BID)**

1. The Department of Education Division of Davao del Norte, through the CY 2022 General Appropriations Act intends to apply the sum of One Million Six Hundred Twenty-Two Thousand Five Hundred and 00/100 Pesos (PhP 1,622,500.00) being the ABC to payments under the contract for the Procurement of Science and Math Equipment (SME) Packages for JHS and SHS for FY 2022 (Re-bid). Bids received in excess of the ABC shall be automatically rejected at

bid opening

Stock/ Property No.	Unit	Item Description	Quantity	Unit Cost	Total Cost
		Procurement of Science and Mathematics Equipment Packages to Public Junior High Schools (Grades 7 to 10)			
	package	Science and Mathematics Equipment (SME)			
1	рс	Meterstick, plastic	500	88.96	44,480.00
2	рс	Protractor (for student)	1,000	15.21	15,210.00
3	рс	Ruler, plastic, 12 inches or 30 cm	1,000	9.81	9,810.00
4	рс	Tape measure, 1.5 meters	500	12.43	6,215.00
5	рс	Flask, volumetric, borosilicate, 250 ml	125	112.56	14,070.00
6	рс	Graduated cylinder, borosilicate, 10 ml	125	47.48	5,935.00
7	рс	Graduated cylinder, borosilicate, 100 ml	125	81.01	10,126.25
8	рс	pH Meter, hand held	125	1,602.96	200,370.00
9	рс	Thermometer laboratory type, alcohol, -20°C to 110°C	125	26.43	3,303.75
10	pack	Universal pH paper, pH 0-14, 100 strips/pack	25	49.06	1,226.50
11	рс	Beaker, borosilicate, 1000 ml	125	311.18	38,897.50
12	рс	Dish, petri	125	118.60	14,825.00
13	рс	Beaker, borosilicate, 250 ml	125	19.82	2,477.50
14	рс	Beaker, borosilicate, 500 ml	125	34.29	4,286.25
15	рс	Burner, alcohol, glass, 150 ml capacity	125	37.80	4,725.00
16	рс	Mortar and pestle, porcelain, 150 ml	125	89.64	11,205.00

Page 1 of 5



Address: Mankilam, Tagum City, Davao del Norte

Telephone Number: (084) 216 0188



17	рс	Rubber stopper #6 for Erlenmeyer Flask (narrow-mouth) 250 ml, 1 hole	125	16.20	2,025.00
18	рс	Test tube brush	125	10.80	1,350.00
19	рс	Test tube , borosilicate, Ø 16 mm x 150 mm long	1,250	7.02	8,775.00
20	рс	Vial, screw neck, 50 ml (with screw-type plastic cap)	625	27.54	17,212.50
21	рс	Watch glass Ø 90 mm	125	27.00	3,375.00
22	pack	Lens paper, 50's/pack	125	52.25	6,531.25
23	sheet	Filter paper, crepe, 580 mm x 580 mm sheet, grade 0905	250	11.17	2,792.50
24	spool	Nichrome wire, 0.4, 100 ft (1 spool per package = 1.1 oz minimum with spool)	25	225.42	5,635.50
25	рс	Triangular file, fine 6 inch long, with plastic handle	125	195.29	24,411.25
26	unit	Globe, terrestrial	125	806.20	100,775.00
27	рс	Musical instrument, (Miniature guitar)	125	816.52	102,065.00
28	set	Set of Tools	25	712.21	17,805.25
		Set of Tools: Ball Peen hammer, handle length is 11 inch, 350g approx. weight, pc/set			
		Set of Tools: Long Nose Pliers, 6 inch, 1pair/set			
		Set of Tools: Mechanical Wire Cutter and Pliers 6.5 inch, 1pair/set			
		Set of Tools: Precision screwdrivers set, 6pcs/set, with plastic casing, 1set/set			
		Set of Tools: Screwdrivers Set, flat, 6-inch, pc/set			
		Set of Tools: Screwdriver, phillips, 6-inch, 1pc/set			
		Set of Tools: Soldering Iron, 60 watts, 1 pc/set			
		Set of Tools: Soldering Lead, Ø1 mm, Grade 60/40, Wt.: 1 lb/spool, 1 spool/set			
		Set of Tools: Soldering Paste, 50 grams/can, 1 can/set			
		Set of Tools: Tweezers, stainless steel, with curved tips, 6.5-inch long, 1 pair/set			
29	box	Glass Cover Slips, 100's/box	250	19.20	4,800.00
30	box	Glass Slides, 72's/box	250	42.23	10,557.50
31	рс	Compass, Magnetic	125	51.61	6,451.25
32	рс	Pipette, Beral, 1 mL	1,250	1.62	2,025.00
33	pair	Gloves, Hand, super nitrile	125	46.75	5,843.75
34	рс	Flashlight with incandescent bulb	25	183.07	4,576.75
35	unit	Lamp, Desk, Heavy Base	125	450.15	56,268.75
36	рс	Calculator, Scientific	1,000	285.65	285,650.00
37	рс	Stopwatch, digital	125	91.00	11,375.00
		Procurement of Science and Mathematics Equipment			

Page **2** of **5** 



Address: Mankilam, Tagum City, Davao del Norte Telephone Number: (084) 216 0188

		Packages to Public Senior High Schools (Grades 11 to 12)			
		- CORE DOWNLOADING			
38	рс	Flask, Volumetric, borosilicate 250 mL	125	112.56	14,070.00
39	рс	Graduated Cylinder, borosilicate, 10 mL	125	47.48	5,935.00
40	рс	Graduated Cylinder, borosilicate, 100 mL	125	81.01	10,126.25
41	рс	Thermometer, Laboratory type, Alcohol, -20°C to 110°C	125	26.43	3,303.75
42	pack	Universal pH Paper, pH 0-14, 100 strips/pack	25	49.06	1,226.50
43	sheet	Filter Paper, crepe, 580 mm x 580 mm sheet, Grade 0905	250	11.17	2,792.50
44	рс	Triangular File, fine, 6-inch long, with plastic handle	125	195.29	24,411.25
45	рс	Beaker, borosilicate, 250 mL	125	19.82	2,477.50
46	рс	Beaker, borosilicate, 500 mL	125	34.29	4,286.25
47	рс	Burner, Alcohol, glass, 150 mL Capacity	125	37.80	4,725.00
48	рс	Dish, Evaporating, 75 mL	125	19.82	2,477.50
49	рс	Flask, Erlenmeyer, borosilicate, narrow-mouth, 250 mL	250	49.52	12,380.00
50	рс	Rubber Stopper #6 for Erlenmeyer Flask (narrow-mouth) 250 mL, 2holes	125	16.74	2,092.50
51	рс	Test tube brush	125	10.80	1,350.00
52	рс	Test Tube, borosilicate, Ø 16 mm x 150 mm long	1,250	7.02	8,775.00
53	рс	Vial, screw-neck, 50 mL. (with screw-type plastic cap)	625	27.54	17,212.50
54	рс	Watch Glass, Ø 90 mm	125	27.00	3,375.00
55	set	Set of Tools	25	712.50	17,812.50
		Set of Tools: Ball Peen Hammer, handle length is 11-inch, 350g approx. weight, 1 pc/set			
		Set of Tools: Long Nose Pliers, 6-inch, 1 pair/set			
		Set of Tools: Mechanical Wire Cutter and Pliers, 6.5-inch, 1 pair/set			
		Set of Tools: Precision Screwdrivers Set, 6 pcs/set, with plastic casing, 1 set/set			
		Set of Tools: Screwdriver, flat, 6-inch, 1 pc/set			
		Set of Tools: Screwdriver, phillips, 6-inch, 1 pc/set			
		Set of Tools: Soldering Iron, 60 watts, 1 pc/set			
		Set of Tools: Soldering Lead, Ø1mm, Grade 60/40, Wt.: 1 lb/spool, 1 spool/set			
		Set of Tools: Soldering Paste, 50 grams/can, 1 can/set			
		Set of Tools: Tweezers, stainless steel, with curved tips, 6.5-inch long, 1 pair/set			
56	pcs	Pipette, Beral, 1 mL	1,250	2.60	3,250.00
57	pair	Gloves, Hand, super nitrile	125	46.76	5,845.00

Page **3** of **5** 



Address: Mankilam, Tagum City, Davao del Norte Telephone Number: (084) 216 0188



58	pcs	Calculator, Scientific	1,000	258.50	258,500.00
59	pcs	Stopwatch, digital	125	91.00	11,375.00
		Procurement of Science and Mathematics Equipment			
		Packages to Public Senior High Schools (Grades 11 to 12)			
		- STEM DIRECT RELEASE			
60	pcs	Ruler, Plastic, 12 inches or 30 cm	1,000	13.00	13,000.00
61	spool	Nichrome wire. 0.4, 100 ft (1 spool per package = 1.1 oz minimum with spool)	25	224.13	5,603.25
62	рс	Cork Borers	25	155.00	3,875.00
63	рс	Rubber Stopper #6 for Erlenmeyer Flask(narrow-mouth)250 mL,1hole	125	16.40	2,050.00
64	рс	Musical Instrument (Miniature Guitar)	125	850.00	106,250.00
65	рс	Beaker, Plastic 500 mL	125	23.07	2,883.75
66	рс	Dry Cell, 9 volts	125	28.60	3,575.00

1,622,500.00

Notes: See attached specifications based on DepEd Order No. 20, s. 2022

Supplier shall adhere to the stipulated items on the attached Memorandum of Specifications as to the quantity, amount, and technical specifications.

Please deliver all items directly to DavNor division office for proper inspections. Further, all items delivered shall already be segregated by school.

Delivery Period: 60 calendar days Drop-off point: Division Office

- 3. The Department of Education Division of Davao del Norte now invites bids for the above Procurement Project. Delivery of the Goods is required by 60 calendar days. Bidders should have completed, within three (3) years from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 4. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.
  - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
  - 5. Prospective Bidders may obtain further information from Department of Education Division of Davao del Norte and inspect the Bidding Documents at the address given below during 8:00-5:00 PM.
  - 6. A complete set of Bidding Documents may be acquired by interested Bidders on January 11-31, 2023 from the given address and website(s) below and upon submission of letter of intent and payment of the applicable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of Five Thousand and 00/100 Pesos (PhP

Page 4 of 5



Address: Mankilam, Tagum City, Davao del Norte Telephone Number: (084) 216 0188

- 5,000.00). The Procuring Entity shall allow the bidder to present its proof of payment for the fees in person.
- The Department of Education Division of Davao del Norte will hold a Pre-Bid Conference on January 19, 2023 @ 9:30 AM at the Division Office Conference Room which shall be open to prospective bidders.
- Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below, on or before January 31, 2023 @ 9:30 AM. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in ITB Clause 14.
- Bid opening shall be on January 31, 2022 @ 9:30 AM at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. The Department of Education Division of Davao del Norte reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

For further information, please refer to:

GAY P. TAGUIRAN BAC SECRETARIAT CHAIR DepEd Davao del Norte Govt. Center, Brgy. Mankilam Tagum City, Davao del Norte bac.depeddavnor@gmail.com Phone Number: 0917-637-1930 https://www.depeddavnor.ph

ATTY. VEVIRLIE O. GALLO

Attorney III **BAC Chairperson** 





Address: Mankilam, Tagum City, Davao del Norte

Telephone Number: (084) 216 0188